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Card 2 Mod means Remainder Year 6 Card 3 Think and Compute Year 6

The mod block reports the remainder after
dividing the first by the second number.

Example: reports the remainder of the division of 146 by 6.
146 + 6 = 23 The remainder is 5.

38.47 rounds down to 38. 143: 6 = 23. | THINKit through ..
The remainder
rounds up to 160. is 5.
(5 ) Answer this!

To round a number to its nearest (1) ’_’ (3)

10, 100 or 1000, first divide by 10,

100 or 1000 in order to make the After 138, what Is the next
number a decimal. Then, to restore

& k From 143 subtract 143 mod 6

dlick number that s exactly
¢ 143 mod 6 is 5. Then 143 minus 143 mod 6 divisible by 67

the number after rounding, multiply

by 10, 100 or 100.

Card 1 Rounding Year 6

NOTE: The black
dashed lines help
highlight blocks of

the same colour.
A pair of chairs cost £170.
What would 5 chairs cost
after a discount of 10%.
£170 M

. NOTE: The black dashed lines
The round reporter turns a decimal number help highlight blocks of the

into the nearest whole number. same colour.

Unitary Method: If you are given the cost of many items, divide to find the cost of 1.

For example: rounds down to 4, and

rounds up to 16.

With discount 5 ( 1 )
chairs would cost

use this block 170 ... to get the cost of 1 chair the computer stores the
value in its memory

6 does not divide £382.50
evenly into 143
mod reports the
remainder is 5.

d 1000
I‘roun to nearest (2) (4) Nowdivide 138 by 6. @ e | (g ) Answer this!
l ' W

is the number less that 143 which divides by
6 with no remainder. That number is 138.
How many times does 6 divide into 1387

(2) use this block

... to get the cost of 5 chairs  the computer stores the

Give a reason for your
a new value in its memory

Program the sprite to ‘say’ each answer from (a) to (i) %
\(\’t (3) use this block ... to get the cost after 10% discount

round to nearest 10 m round to nearest 100
p— (You only pay 90%. 0.9 is equal to 90%)

NOTE:
0 What's the highest value

g 100 T gvf:ﬁs not divide 143 mod 6 can report? Program the sprite to say it all with this single combination block
highlight blocks k The computer turns From 143 subtract 143 mod 6 Explain your answer. the computer stores the value
of the same the remainder into i el 5y 6 plain : in its memory, but the sprite
colour. the decimal for + With discount 5 chairs would cost € is programmed to say it as

a calculated value.

Program the sprite to say it all.
Three join operators give 4 Is this Unitary Method?
input windows, as shown by A car travelled 234 Km in 3 hours. At that rate, (234 = 3) = 60)

- d =3+ x 50
the blue dotted line boxes. The about how far did it travel in 50 minutes? ( Do)
dashed lines help highlight
blocks of the same colour.

round 3182 to nearest 10 l

Card 4 Code a Maths Conversation Year 6 Card 5 Rotate Angles up to 360° Year 6 Card 6 Name Angles up to 360° Year 6

D Cat and Dog For fun, change the scene and sprites: = 2] O The pen sprite The line sprite - Ee
Make the cat ask the dog two ~ There are two almost identical projects at Wow! Monkeys 1 Click flag w Get the duck from the
questions. You decide what  pyps:/ jscratch.mit.edu/projects/43809538/ | renare" 10 left extremity sprite sprite library and

code the sprite with these

questions the cat asks. It €
two scripts.

helps if you know the httpsi//scratch.mit.edu/projects/53362808/
answers also, because you  Qne project is the Cat and Dog . The
have to programme the dog  other is the Owl and Monkey. Do
to give the correct answers. you know that you can import
images like the owl and monkey
from shared projects into your own?
You can import the sound files also. [ 56|

2.There are two scripts on the dog.
[b]
[d] *

Initialise pen colour (red), size (3)
Initialise pen to UP

The duck responds to the
broadcast that is sent
when the angle is drawn.

1.There are three scripts on the cat.

2Input a vaue ®FPress ENTER 4 Free SPAGEEAR
‘What size angle?
56

The invisible Cat sprite
Make the cat sprite invisible. Hide it.
[c]

Script the hidden sprite to ask for user input.

2Input a value OFPress ENTER 4 Press SPACEBAR

(V) 115 i

l What size angle?

Redo the project on Card 5 but add extra code to
it. Get a new sprite and program it tell you what
type of angle you have chosen to draw. Your angle
will be one of these: ACUTE, RIGHT, OBTUSE or

REFLEX.
el NOTE:
n Add a broadcast command to the line sprite
) Card 6 adds a broadcast of Card 5 to send the message Have your
The scripts follow say Duck’ after the angle has been drawn
[h] the broadcasts in
the order from [a]
through to [h]. [gl See the note on Card 5.
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